2025 B 2X=d N=2HXE MBEAAM

S AT AR A NB ML TETAY ol AT AL W CLEE)
SALEH 9 MRAY BAR mae | S5 | vasz & & I =
MAT AR 42,667 475| 47867475| 5200000
MACTHEE A 42,393,444|  47593.444| 5,200,000
LA W 22,052,204| 27,052,204| 5,000,000
(2)HEHAT WA 12,092,000| 17,092,000| 45,000,000
201
Al Bl 220 12,092,000| 17,092,000| 45,000,000

10,959,000 15,397,000 4 438,000] 401-01 (AIZHI)

OYFA HEZ4T WP ALY
23 10,959,000,0008-71F 15,397,000,0008 = A4,438,000

(= 6,046,000)

(< 1,814,000)

(Al 3,099,000)

1133,000]  1,695000| 562,000 401-02 (Zelbl)
OAZA HSHAR HAIY A& A DR
23X 1,133,000,00082-71 & 1,695,000,0002 = 562,000

(= 0)
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